P
3 o
0 - é : :
3 K
.. - :
0 T -
@) %
=) H< : §
3 " @) - S
— OE ; m ) m
a : ; -§-
E 0 o)
gE‘ | M m O g
i . .0 = R
m - ﬂ %
cC O |
I & 0 = O > . >_ g
N> P “ - (1 Z Z < . £z .
T e c = S >- e | € :2 N
s 82 : = 353 o & iz |
S £ o g S Q8 < Yzl 3¢ 2
N m a 3 3 N L
oo NN 8 N &2 b : m
M % x 8 [0 —I v U) o 8 ‘I-
%R ; \
1 S5 ¢ > | <L | W = O S 2
m a
H be Q Z O <C wn (®) o
n 3 3 L] : D: x N
T z Z : .
g8 S Q 1 @ 5 7 m :
25 6 x -ESGID ) S xo S ‘-.
TR (% N > : N m
i -UN = = ) ~
o > 8 8 gl N ==
£8% L | 4 I
il : 2 2 2 2
|1 = N ~m | o =
<t [ E : §Lu |
= | 2 (o] = N 5 # - :
L | N "';Jm ? y : iF 5-
Ts) | g z O i : ; : E 8 :
L | = < > -l o E : : : E:
| | 8 W 2 S S| @ : : % k
s S N - . ’l ;
RN .
RN AN

/

1412

644003628
Y= 5806697.90

X = 643999932
806666.78

Y=5
94,99

hni - 285,7 m2

\ ﬂ_--—_-—_—
i \ Lo o== \ E
QB.M

94
9
\

SD1: X = 6439956.62

X X%Y:%ia%ézif X

W1
wylot do rowu

ot
K |
. \. \\I
| jEL Ps
11
i
ip-
18
/
(/
\
/
8 PS o v

0+218 LBKM

Y

=

<)
S

wol32

*
X 6439808.85
Y = 5806270.38




